-gtest

gtesttesting

@ gtesttestifygoconvey

i mport "github. conf gogf/gf/v2/test/gtest”

https://pkg.go.dev/github.com/gogf/gf/v2/test/gtest

func C(t *testing. T,

f func(t
func Assert(val ue, expect

*T)

interface{})

func Assert EQ(val ue, expect interface{})
func Assert GE(val ue, expect interface{})
func AssertGrI(val ue, expect interface{})
func AssertlN(val ue, expect interface{})
func AssertLE(val ue, expect interface{})
func AssertLT(val ue, expect interface{})
func AssertNE(val ue, expect interface{})
func AssertN (value, expect interface{})
func Error(nessage ...interface{})

func Fatal (nessage ...interface{})

. CCaseCC
. Assert Assert EQ
. Assert GE

A OWNPE

G) _testGo/Test*

gstr

package gstr_test

i mport (

. Assert| NAssert NI slicemap

"gi t hub. conf gogf/gf/v2/test/gtest”
"github. conf gogf/gf/v2/text/gstr"

"testing"

)

func Test_Trin(t *testing.T) {
*gtest. T) {

gtest.C(t, func(t

t.Assert(gstr.Trinm"

123456\n ")

t.Assert(gstr. Trim("#123456#; ",

b

"#),

"123456")
"123456")


https://pkg.go.dev/github.com/gogf/gf/v2/test/gtest

package gstr_test

inport (
"gi thub. com gogf/gf/v2/test/gtest"”
"gi t hub. conf gogf/gf/v2/text/gstr"

"testing"
)
func Test_Trim(t *testing.T) {
c(t, func() {
Assert(gstr. Trin(" 123456\n "), "123456")
Assert(gstr. Trim("#123456#;", "#;"), "123456")
b
}
CC PASS

=== RUN Test_Trim

[ ASSERT] EXPECT 123456#; == 123456

1. /Users/john/ Wrkspace/ Go/ GOPATH src/ gi t hub. conmi gogf/ gf /v2/text/gstr/gstr_z_ unit_trimtest.go: 20
2. [ Users/john/ Wrkspace/ Go/ GOPATH src/ gi t hub. conf gogf/gf/v2/text/gstr/gstr_z_unit_trimtest.go: 18
--- FAIL: Test_Trim (0.00s)
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